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uksV %	 [k.M ^v* oLrqfu"B izdkj  dk rFkk vfuok;Z gSA mUgsa mÙkj&iqfLrdk ds 
izFke i`"B ij fy[kk tk;sA [k.M ^c* y?kq mÙkjh; izdkj dk vkSj [k.M ^l* 
nh?kZ mÙkjh; izdkj dk gSA

Note :	Section A is objective type and is compulsory. It should be 
written on the first page of Answer-book. Section B is Short 
answer type and Section C is Long answer type.

	 [k.M ^v* @ Section ‘A’	 1 × 8 = 8
cgqfodYih; iz'u

(Multiple Choice Questions)
uksV %lgh mÙkj pqfu,A

Note : Choose the correct answer.

	 1.	 Fkk;ks,YdksgkWy dk DoFkukad laxr ,YdksgkWy dh rqyuk esa gksrk gSµ

		  (v)	mPp	 (c)	 fuEu

		  (l)	cjkcj	 (n)	 mi;qZDr esa ls dksbZ ugha
						      P.T.O.

[ 2 ]

		  Compare to corresponding alcohols the boiling point of 
thioalcohols is :

		  (a)	 High	 (b)	 Low

		  (c)	 Equal	 (d)	 None of the above

	 2.	 fuEu esa ls dkSu funzkdkjh vkS"kf/k gSµ

		  (v)	Vªk;ksuy	 (c)	 bZFkj

		  (l)	edsZIVu	 (n)	 lYQj

		  Which one of the following is Hypnotic drugs :

		  (a)	 Trional	 (b)	 Ether

		  (c)	 Mercaptan	 (d)	 Sulphur

	 3.	 fuEufyf[kr esa ls dkSu&lk ;qXe ,d gh vkslklksu cukrk gSµ

		  (v)	Xywdkst ,oa ySDVksl	 (c)	 Xywdkst ,oa ÝDVksl

		  (l)	ÝDVksl ,oa eSuksl	 (n)	 ÝDVksl ,oa ySDVksl

		  Which one of the following pair gives same osazone :

		  (a)	 Glucose and Lactose

		  (b)	Glucose and Fructose

		  (c)	 Fructose and Mannose

		  (d)	Fructose and Lactose

	 4.	 uk;ykWu&66 gSµ

		  (v)	;ksxkRed cgqyd	 (c)	 vkjykWu

		  (l)	lgcgqyd	 (n)	 la?kuu cgqyd
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		  Nylon-66 is :

		  (a)	 Addition polymer	 (b)	Orlon

		  (c)	 Copolymer	 (d)	Condensation polymer

	 5.	 dkaxks jsM jatd gSµ

		  (v)	bafMxks	 (c)	 izR;{k ,stks jatd

		  (l)	Y;wdks ;kSfxd	 (n)	 vkWDlksØkse

		  Cango Red dye is :

		  (a)	 Indigo	 (b)	 Direct Azo dye

		  (c)	 Luco compound	 (d)	 Auxochrome

	 6.	 n → s* laØe.k ik;k tkrk gSµ

		  (v)	,LVj	 (c)	 ,ehu

		  (l)	cSathu	 (n)	 esfFky ,YdksgkWy

		  n → s* transition are found :

		  (a)	 Ester	 (b)	 Amine

		  (c)	 Benzene	 (d)	 Methyl Alcohol

	 7.	 baÝkjsM {ks= dk ijkl gSµ

		  (v)	1·5 mm to 2·5 mm	 (c)	 2·5 mm to 15 mm

		  (l)	2·5 mm to 25 mm	 (n)	 1·5 mm to 2·5 mm

		  The Range of Infrared region is :

		  (a)	 1·5 mm to 2·5 mm	 (b)	 2·5 mm to 15 mm

		  (c)	 2·5 mm to 25 mm	 (d)	 1·5 mm to 2·5 mm
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	 8.	 TMS ds flXuy ds fy,  d (MsYVk) dk ekuµ

		  (v)	'kwU;	 (c)	 nl

		  (l)	100	 (n)	 5

		  The value of d (delta) for the signal of TMS :

		  (a)	 Zero	 (b)	 Ten

		  (c)	 One hundred	 (d)	 Five

	 [k.M ^c* @ Section ‘B’	 2 × 5 = 10
y?kq mÙkjh; iz'u

(Short Answer Type Questions)

uksV % lHkh ik¡p iz'u vfuok;Z gSaA	

Note : All the five questions are compulsory.

	 1.	 fxzxukMZ vfHkdeZd dh fuEu ds lkFk vfHkfØ;k fyf[k,µ

		 (v) ,fFky vkFkksZQkWesZV	

		 (c) dkcZu MkbvkWDlkbM

		  Write the reactions of the following with Grignard  
reagents :

		  (a) Ethyl orthoformate	

		  (b) Carbon dioxide

vFkok @Or

		  fuEufyf[kr dks eSyksfud ,LVj ls dSls cukvksxsµ

		 (v) eSyksfuy ;wfj;k	

		 (c) ,slhfVd vEy
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		  How would you prepare from Malonic ester of the  
following :

		  (a) Malonil Urea	

		  (b) Acetic Acid

	 2.	 laf{kIr fVIi.kh fyf[k,µ	

		 (v) Fkzh;ks ,oa bfjFkzh;ks MkbLVhfj;ksej]

		 (c) U;wfDy;ksVkbM lajpukA

		  Write short notes on :

		  (a) Threo and Erythreo diastereomer,

		  (b) Nucleotide structure.

vFkok @Or

		  Mh-,u-,- dh f}gsfyDl lajpuk dks le>kb,A

		  Explain the double helical structure of DNA.

	 3.	 ftxyj&ukVk cgqyhdj.k dks le>kb,A

		 Explain the Zeigler-Natta polymerization.

vFkok @Or

		  fQukWy&QkesZfYMgkbM jsftu dks le>kb,A

		  Explain the phenol-formaldehyde resin.

	 4.	 ekWl LiSDVªksLdksih ds fl¼kUr fyf[k,A 

		  Write the principle of Mass Spectroscopy.
H-65-21				    P.T.O.

[ 6 ]

vFkok @Or

		  fuEufyf[kr ;kSfxdksa ds lmax dh x.kuk dhft,µ

		

(v)

 	

COOH

Br

]

		

(c)

OH

O

 

.

	

		 Calculate the lmax of the following compounds :

		

(a)

 	

COOH

Br  

,

		
(b)

	 OH

O

 

.

	 5.	 VkW&Ldsy dks le>kb,A

		  Explain Tau-scale.

vFkok @Or

		  CH3—CH2—CH2—Br esa fLiu&fLiu foikVu dks le>kb,A 

		 Explain the spin-spin splitting in CH3—CH2—CH2—Br.
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	 [k.M ^l* @ Section‘C’	 3 × 5 = 15

nh?kZ mÙkjh; iz'u

(Long Answer Type Questions)

uksV % lHkh ik¡p iz'u vfuok;Z gSaA	

Note : All the five questions are compulsory.

	 1.	 dkcZ&fyfFk;e ;kSfxd ij laf{kIr fVIi.kh fyf[k,A

		  Write short note on organo-lithium compound.

vFkok @Or

		  fuEufyf[kr dks eSyksfud ,LVj ls dSls cukvksxsµ

		 (v) ,fMfid vEy]

		 (c) lfDlfud vEy]

		 (l) XywVsfjd vEyA 

		 How will you prepare the following compounds from 
malonic esters :

		  (a) Adipic acid,

		  (b) Succinic acid,

		  (c) Glutaric acid.

	 2.	 eksukslSdsjkbM~l esa fjax lkbt fu/kkZj.k dks le>kb,A 

		 Explain the ring size determination in monosaccharides.
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vFkok @Or

		  izksVhu ds tSfod fØ;k dks le>kb,A	

		  Explain the biological role of protein.

	 3.	 izkÏfrd ,oa lka'ysf"kr jcM+ D;k gS\ 

		 What is natural and synthetic rubber ?

vFkok @Or

		  jatd ds oxhZdj.k dks mnkgj.k lfgr le>kb,A 

		 Explain the classification of dye with examples.

	 4.	 ekWl LiSDVªksLdkWih ds vuqiz;ksx fyf[k,A 

		 Write the applications of mass spectroscopy.

vFkok @Or

		  IR-LiSDVªk dh lgk;rk ls fuEu ;kSfxdksa ds ;qXeksa dks dSls igpkuksxsµ

		 (v) ,FksukWy ,oa izksisuksu]

		 (c) esFksukWy ,oa ,sFksukWbd vEy]

		 (l) lkbDyksC;wVsukWu ,oa lkbDyksgsDlsukWuA

		 How would you identify the following pairs of  
compounds with the help of IR spectra :

		  (a) Ethanol and Propanone,

		  (b) Methanol and Ethanoic acid,

		  (c) Cyclobutanone and Cyclohexanone.
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	 5.	 fuEufyf[kr ;kSfxd ds NMR LiSDVªe esa izksVkWu ds izdkj ,oa muds foikVu 
dks iznf'kZr dhft,µ

		 (v) ClCH2CH2CH2Cl,

		
(c)

 

H3C

Cl
C = C

H

H

		
(l)

 

H3C

H3C
C = C

H

H

		  Indicate the types of protons and their multiplicity in the 
NMR spectra of following compounds :

		  (a) ClCH2CH2CH2Cl	

		
(b) 

H3C

Cl
C = C

H

H

	
	 (c)

 

H3C

H3C
C = C

H

H

vFkok @Or

		  C13 NMR ds fl¼kUr fyf[k,A 

		 Write the principle of C13 NMR.

     c      
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